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1 Introduction
In this contribution, we discuss some remaining issues related to design of cross-slot scheduling for power saving. In particular, we discuss assumption on the minimum applicable value for K0/K2 when BWP and change indication is received by DCI and corresponding application delay. 
2 Minimum applicable value of K0/K2 for BWP switching by DCI
The adaptation of minimum applicable value of K0/K2 when BWP is switched without the 1-bit indication received in the DCI was agreed in RAN1 98b as follows:
	Agreements:

For an activated BWP without the 1-bit indication received in DCI for adapting the minimum applicable value of K0 (K2) for the BWP when there are one or two RRC configured values for the BWP, e.g., due to BWP switching triggered by BWP timer expiration, etc., the value applied for the BWP before the 1-bit indication is received within the BWP is determined by
· Option 2: The configured value if one value is RRC configured; The lowest-indexed RRC configured value if two values are RRC configured

FFS Value zero is a valid configuration for the minimum applicable K0/K2 value for the case when two RRC values are configured for the BWP
Agreements:

Value zero is a valid configuration for the minimum applicable K0/K2 value for the case when two RRC values are configured for the BWP
· Detail RRC configuration design is up to RAN2.




It is still open what would be the minimum applicable value in the target BWP if a DCI includes both 1-bit indication and BWP switch indication. Note that UE may switch to larger or narrower BWP by DCI and if 1-bit indication is available, network could use this indication to adapt minimum applicable value in the target BWP dynamically and flexibly. Hence, in our view, assuming the value indicated via 1-bit indication  as the applicable minimum value of K0/K2 in the target BWP seems reasonable.
Proposal 1: If scheduling DCI includes both 1-bit indication for minimum application value of K0/K2 and BWP ID indication, UE assumes the indicated minimum value of K0/K2 to be applicable in the indicated BWP.

Next, we discuss the application delay for adaptation to the indicated minimum applicable K0 value(s) for the indicated BWP where trigger for the 1-bit indication and BWP indication received in the same DCI format 1-1 in a serving cell. For PDCCH monitoring case 1-1, the application delay denoted by X slot(s) for the target BWP, is determined by
· X = max(Y, ceiling(Z*2^(scheduled/2^(scheduling)) in the numerology of the target BWP

· Z is determined by the SCS of the active DL BWP or the scheduling BWP in the serving cell and takes value of 1/1/2/2 slot(s) for DL SCS of 15/30/60/120 KHz, respectively

· (scheudling and (scheudled are the SCS indices for the scheduling and the scheduled BWP, respectively.  

· Y is the configured value if one value is RRC configured for the minimum applicable value of K0 in the scheduled BWP; The lowest-indexed RRC configured value if two values are RRC configured for the minimum applicable value of K0 in the scheduled BWP

Scaling Z*2^(scheduled/2^(scheduling is necessary to bring Z into the numerology of the target/scheduled BWP since X is expressed in the numerology of target BWP. Here, configured value is assumed to be the existing value of minK0 in the target BWP.
Proposal 2: For adaptation to the indicated minimum applicable K0 value(s) in the switched BWP triggered by the 1-bit indication of a DCI format 1-1 in a serving cell, application delay X in slot(s) in the numerology of the switched BWP is given by

· X = max(Y, ceiling(Z*2^(scheduled/2^(scheduling)) in the numerology of the target BWP

· Z is determined by the SCS of the active DL BWP or the scheduling BWP in the serving cell and takes value of 1/1/2/2 slot(s) for DL SCS of 15/30/60/120 KHz, respectively

· (scheudling and (scheudled are the SCS indices for the scheduling and the scheduled BWP, respectively.  

· Y is the configured value if one value is RRC configured for the minimum applicable value of K0 in the scheduled BWP; The lowest-indexed RRC configured value if two values are RRC configured for the minimum applicable value of K0 in the scheduled BWP
3 Constraints on applicability of adaptation of minimum K0
In RAN1 99 [1], the following was agreed regarding when adaptation on the minimum applicable value of K0 may not be applicable. 
	Agreements:

The adaptation on the minimum applicable value of K0 does not apply to C/CS/MCS-RNTI monitored in any common search space (of type 0/0A/1/2) associated with CORESET 0 if default TDRA table is applied.

· FFS the case of CSS of type 3

· FFS other cases if default TDRA table is applied





In CSS type 3, several group-common DCI formats 2_x, x ={1,2,3,4,6} and fallback DCI formats in primary cell can be expected. Note that fallback DCI formats with only C/MCS-C/CS-RNTIs can be expected, not SI/TC/RA/P-RNTI. Hence, the reasoning of not applying the adaptation of minimum value to Type 0/0A/1/2 CSSs does not quite apply here. In fact, in many occasions such as for coverage or avoiding blocking, CSS Type 3 may be used for transmitting fallback DCI format for data scheduling. Hence, we have the following proposal:

Proposal 3:  The adaptation on the minimum applicable value of K0 applies to the case of CSS of type 3.
4 Conclusion 
In this contribution, we presented our views on the remaining issues regarding cross-slot scheduling for power saving and we have the following proposals.
Proposal 1: If scheduling DCI includes both 1-bit indication for minimum application value of K0/K2 and BWP ID indication, UE assumes the indicated minimum value of K0/K2 to be applicable in the indicated BWP.

Proposal 2: For adaptation to the indicated minimum applicable K0 value(s) in the switched BWP triggered by the 1-bit indication of a DCI format 1-1 in a serving cell, application delay X in slot(s) in the numerology of the switched BWP is given by

· X = max(Y, ceiling(Z*2^(scheduled/2^(scheduling)) in the numerology of the target BWP

· Z is determined by the SCS of the active DL BWP or the scheduling BWP in the serving cell and takes value of 1/1/2/2 slot(s) for DL SCS of 15/30/60/120 KHz, respectively

· (scheudling and (scheudled are the SCS indices for the scheduling and the scheduled BWP, respectively.  

· Y is the configured value if one value is RRC configured for the minimum applicable value of K0 in the scheduled BWP; The lowest-indexed RRC configured value if two values are RRC configured for the minimum applicable value of K0 in the scheduled BWP
Proposal 3:  The adaptation on the minimum applicable value of K0 applies to the case of CSS of type 3.
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